
R is the set of integers mod 7 under the addition and multiplication mod 7.
            That is, the elements of R are the seven symbols  [image: /storage/emulated/0/.polaris_temp/fImage5881103985.png]  .          
             where
            (1)      [image: /storage/emulated/0/.polaris_temp/fImage4082117235.png]   where k is the remainder of  I + j on division by 7 
               (thus for instance,   [image: /storage/emulated/0/.polaris_temp/fImage3924129285.png]   since 4 + 5 = 9 , which when divided by 7 
               leaves remainder of 2)
            (2)   [image: /storage/emulated/0/.polaris_temp/fImage4054136505.png]   where m is the remainder of ij on division by. 7
               (thus ,   [image: /storage/emulated/0/.polaris_temp/fImage3674146522.png]   since..5.3 =15 has 1 as remainder on the division by 7)
             Prove that R is a commutative ring with unit element.
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